
#lang racket

(define (GCD x y)
  (if (= x 0)
      y
      (if (= y 0)
          x
          (GCD y (modulo x y)))))

(GCD 41 4)

(GCD 5740 70)

(define (GCD-2 x y)
  (cond ((= x 0) y)
        ((= y 0) x)
        (else (GCD-2 y (modulo x y)))))

(GCD-2 5740 70)

(define (greet str)
  (printf (string-append "hi " str)))

(define (greet-let str)
  (let ((greeting (string-append "hi " str)))
    (printf greeting))
  )

(greet-let "Carolyn")

(define (GCD-3 n1 n2)
  (cond ((= n1 0) n2)
        ((= n2 0) n1)
        (else (let ((remainder (modulo n1 n2)))
                (GCD-3 n2 remainder)))))

(GCD-3 48 6)
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